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Question No. 1

ar A gAY Y H AT 35 ¥ SH [T g, IeTehl G T e[ 2: 1 UT| SR TAATT
g 7 &7

A) 10, 25 B) 20, 15

C) 28, 7 D) 30, 5

The sum of the ages of two cousins is 35. Ten years ago, the ratio of their ages was 2 : 1. What
are their present ages?

A) 10, 25 B) 20,15
C) 28,7 D) 30,5
Answer Key : B Your Response : B (Correct)

Question No. 2

AT IEEr #F & ¥ 9¢ AR A Ru v e o1 3w &)

INPRAT & TS FElel T JedlPR Ao & IRE 3R Fig Ar 3N H{e =& 35 §, A sl adt
fF s wA #F g HRANT FodT Ao F oI F a8 IR R TE | 88 § Aefoas
Foe 3R AT & Fealel & T Fad ar der 95 §l T o s s R T
AT & Fodd, AR FodleT & Ahedd 2T &1 ST AT F FodeT 5968 & FedeT
F g I g W R IS §| Fos F Fwa ARG Foaa F AFecan R a8 &
HEfOAE Fedlel ARAT FoI & 9% AN AW TG W 85 §1 afree dR ~gEiels &
Fedld Adedd R a8 & IRFEAE F Foae S9ds F Foae F T A W TS )W A
gl
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fafaf@a & F Fia a1 Feaer ARG 3R I &S F FoaaT & ST i & dor g2
A) uifREde B) #felehr
C) &faror 3nfrer D) 3iteeferar

Read the following information carefully and answer the question given below.

Eight captains of different cricket teams—Australia, New Zealand, India, Pakistan, Sri Lanka,
England, West Indies and South Africa are sitting around a circular table and are facing the
centre, but not necessarily in the same order. Indian captain sits third to the left of the Sri
Lankan captain. Only two people sit between the Australian captain and West Indies captain.
Neither the Australian captain nor West Indies captain is an immediate neighbour of the Indian
captain. The captain of South Africa sits second to the right of the England captain. England
captain is not an immediate neighbour of the Indian captain. The Australian captain sits third to
the left of the Indian captain. Captains of Pakistan and New Zealand are not immediate
neighbours. Pakistan captain sits third to the left of the England captain.

Which of the following captains sits exactly between the captain of India and West Indies?

A) Pakistan B) Sri Lanka
C) South Africa D) Australia
Answer Key : A Your Response : A (Correct)

Question No. 3

ar aERt A ¥ UF F GoAAW QN[ @ S W Sl TEG3HT F O T aTel JecaArhor qo H
a1 9Rade giar §7

A) TRcarhyUT §of TR [T 8 STl B B) IecaTehUT Fol ST &1 STl ¢

C) I&carehuT §oT cliel [T 8T SiTel & D) ¥careh¥oT §of 3TET g STl g

What happens to the force of gravitation between two objects when the mass of one object is
doubled?

A) The force of gravitation is four times B) The force of gravitation is doubled

C) The force of gravitation is tripled D) The force of gravitation is halved
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Answer Key : B Your Response : B (Correct)

Question No. 4

WieT A AT oF W YT ¢ I3A AW, Wil & IRaGA & I & NG A, 3A AW
F qF F § ofter Wiar X F oRae F Bua g1 FeeT qeT, 9 W F @ F § A
s R A W F REA F Tud §) IR T Tl vw & O # § A Fle @ aww g
qfRas F ua §?

A) 3FH B) it

C) wier D) sasy

The town of Paranda is located on Green lake. The town of Akram is to the west of Paranda.
Tokhada is to the east of Akram but to the west of Paranda. Kokran is east of Bopri but west of
Tokhada and Akram. If they are all in the same district, which town is the farthest west?

A) Akram B) Kokran
C) Paranda D) Bopri
Answer Key : D Your Response : D (Correct)

Question No. 5

FleT | g I T 7T Faer i FE ahF F qOT F@m?

ad e urg : ?
A) HETS B) gc

C) =&#HST D) 3%+
Which word will best complete the relationship given below?

Oil : Seed :: Metal : ?
A) Paper B) Brick
C) Leather D) Ore

ASSWAAT2H7 Your Response : D Enghaegrs Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*vex53k*_ga*YW1wLXlUdWNmQTdtTFBveTM4Q3VGUjl6QlJnVjdCQms5aXlkd1FiZ0JIdFFaY0d5ZTEzLVdkMkk1TElOUWwyclEyRFE.

Question No. 6

200 #r 3R 150 #r ofeY Y ¢of FHAA: 40 FFeAVEer 3 45 FFeiger A I ¥ AR TRt
W el W §1 A F FAW R F wor @ §, o 9 0F qEY A fhde AT F IR FE0?

A) 132 %3 B) 72 @3
C) 252 Tz D) 192 TS

Two trains 200 m and 150 m long are running on parallel rails at the rates of 40 km/h and 45
km/h respectively. In how much time will they cross each other if they are running in the same

direction?
A) 132 seconds B) 72 seconds
C) 252 seconds D) 192 seconds
Answer Key : C Your Response : C (Correct)

Question No. 7

T e giaeafd g & fa, 7o el 3R gfaeafs & e haed ~gerad a7 siare
JTaYFHT el §?

A) 0.4 8Fs B) 0.1 ¥%s
C) 0.2 O3 D) 0.01 @&s

To hear a distinct echo, what is the minimum time interval required between the original sound
and the echo?

A) 0.4 second B) 0.1 second
C) 0.2 second D) 0.01 second
Answer Key : B Your Response : Not Answered

Question No. 8

U & GAY dRT &1 feAfART __ & Ror gar Bl
A) aHST e B) W & WIacle
C) YT & Yot D) 9ehrer o giarqor
SSC Adda247 Engineers Adda247
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A) Atmospheric refraction B) Reflection of light
C) Scattering of light D) Dispersion of light

Answer Key : A Your Response : C (Wrong)

Question No. 9

fre 3o F ey FIfde W wEfew aeRE R ¥ ST 3w fRer siie dffeee @
QAT foRar?

A) S B) FrufRmEr
C) gvdvs D) wid

Which country awarded Shri.Ram Nath Kovind with the highest civilian award the "Grand Order
of the King of Tomislav"?

A) Germany B) Croatia
C) England D) France
Answer Key : B Your Response : Not Answered

Question No. 10

TH FH F A A P, Q, R AR S & FF &ARIT & Iara 2: 3: 5: 4 § R0 F:7 & Qo
fecam s aiafAe $.4200 &1 R W@ 9mer Tfr @Al 3R Rhaer TRy fAei?

A) R, %1500 B) P, $.2000

C) S, %.1600 D) R, %.2000

Efficiencies of P, Q, R and S in doing a job are in the ratio 2 : 3 : 5 : 4. The wages paid for the
job are Rs.4200. Who is paid the largest amount and how much is paid?

A) R, Rs.1500 B) P, Rs.2000
C) S, Rs.1600 D) R, Rs.2000
Answer Key : A Your Response : A (Correct)

Question No. 11

HAToT Y& T OB 117 g1 391 HCF ffor
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A) 1 B) 7

C) 117 D) 13

The product of two co-prime numbers is 117. Find their HCF.

A) 1 B) 7
C) 117 D) 13
Answer Key : A Your Response : C (Wrong)

Question No. 12

TH g8 1 3R #{e Y gu § 3R W, 1 6 3N g R gu sehr 3R T g1 I 98 3R
A3 1 W 39 Rhw e #r 3R He R g &2

A) gGigroT B) &f&iur uiRaH
C) cferor & D) qd

Ram is facing towards east and Ravi is facing Ram and walking towards him. Ravi takes a left
turn. Which direction is Ravi facing now?

A) South B) South west
C) South east D) East
Answer Key : A Your Response : A (Correct)

Question No. 13

ffaf@d s & e § 9¢ 3K i Ru 3w weeT &1 3cr &I

A, B, C, D E F G3INHUTF ged & IRI 3N &g A 3N Hg 1 35 &1 B, F & qE 3R
I T W IR H & a1 3R Y T W do1 81 C, A & 918 3R 9l T @ da7 &1 A,
F 3k B & fsecan wERlr gt 81 E, B & fAswcan werl 18 81 G, D & &% 3R g@ V=T
W daT Bl

H & TsheH gI¥ 3R &l dor 82
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C) G D) A

Read the following information carefully and answer the question given below.

A, B, C, D, E, F, G and H are sitting around a circle facing the center. B is third to the right of F
and third to the left of H. C is fourth to the left of A. A is not an immediate neighbour of F and B.

E is not an immediate neighbour of B. G is second to the right of D.

Who is to the immediate right of H?

A) F B) E
C) G D) A
Answer Key : B Your Response : B (Correct)

Question No. 14

AT 9T & eI off Sler arelr 3 ATl S arelr a1 I ATEr ' AT FHgl AT 872

A) F&EH IIdA B) 3m@frse 3mad=

C) YUY &THT D) SO I

The amount of air inspired and expired during normal respiration is known as-

A) Minute volume B) Residual volume
C) Vital capacity D) Tidal volume
Answer Key : D Your Response : C (Wrong)

Question No. 15

few 7w feredt F @ 3w F g

A) B)
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0) D)

Find the ODD one out from the given options.

A) B)
I( |
0 D)
Answer Key : C Your Response : C (Correct)

Question No. 16

Ifg 10.98 x 10.98 + 10.98K + 0.02 x 0.02 T YUT 9T §, @ 'K' & AL AT
A) 0.2 B) 0.04

C) 0.02 D) 0.4

If 10.98 x 10.98 + 10.98K + 0.02 % 0.02 is a perfect square, then find the value of 'K'".
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A) 0.2 B) 0.04
C) 0.02 D) 0.4

Answer Key : B Your Response : B (Correct)

Question No. 17

& 7% Hia & s e &2
B o B)
34
© P 26
30

How many triangles are there in the given figure?

A) B)

21
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34

C) D)

30

Answer Key : C Your Response : C (Correct)

Question No. 18

fRw 1w fsredt 7 @ T Fr A
A) ETN B) DRM
C) Gal D) HTI

Find the ODD one out from the given options.

A) ETN B) DRM
C) Gal D) HTI
Answer Key : D Your Response : A (Wrong)

Question No. 19

R a1 Riedt ¥ ¥ I BT
A) 144 B) 324
C) 290 D) 100

Find the ODD one out from the given options.

A) 144 B) 324
C) 290 D) 100
Answer Key : C Your Response : C (Correct)

SSC Adda247 Question Ne. 20 Engineers Adda247


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*vex53k*_ga*YW1wLXlUdWNmQTdtTFBveTM4Q3VGUjl6QlJnVjdCQms5aXlkd1FiZ0JIdFFaY0d5ZTEzLVdkMkk1TElOUWwyclEyRFE.

Ifg Rt 3eaer gUUT @Y ashar Bsar 24 W 7, O SHH wEww g A HifSw
A) 24 @Y B) 48 @#T
C) 14 ¥ D) 12 &=

If the radius of curvature of a convex mirror is 24 cm, what is its focal length?

A) 24 cm B) 48 cm
C) 14 cm D) 12cm
Answer Key : D Your Response : D (Correct)

Question No. 21
AR & frdll T & Toadre f Agfda & faw i s 81
A) 9 T B) e a¥
C) ar a¥ D) ©: ay

The governor of a state of India is appointed for a term of-

A) Five years B) Three years
C) Two years D) Six years
Answer Key : A Your Response : A (Correct)

Question No. 22

Soft Fr quT &

167, 334, 668, 1336, (..)
A) 2681 B) 2661

C) 2672 D) 2653

Complete the series.
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167, 334, 668, 1336, (...)

A) 2681 B) 2661
C) 2672 D) 2653
Answer Key : C Your Response : C (Correct)

Question No. 23

qieit 37 AT FT FHET FaEr §9 gl
A) ISt B) defelal
C) e D) ThIsT

S

The common transport form of sugar in plants is-

A) Fructose B) Glucose
C) Galactose D) Sucrose
Answer Key : D Your Response : A (Wrong)

Question No. 24

frrfaf@a F & st Ref@a-A s aEr & 9/ Srar 82

A) a9 B) MR

C) "Halr D) TATR

Which of the following is/are rich in vitamin-A?

A) Apple B) Carrot
C) Oranges D) Tomato
Answer Key : B Your Response : B (Correct)

Question No. 25
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30 fToeT &1 799 F, S FAFd F 97 [FEq (?) & &WE W ™@

e % fow wafcasm 39g+ &l
15 18
90 | 75 108 | 90
A)
108
0
84

21

105

B)

126

D)

136

Choose the alternative that best replaces the question mark(?) in the

given figure.
15 18
90 75 108 | 90
A)
108
o)
84
SSC Adda247
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105

D)

136
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Answer Key : B Your Response : B (Correct)

Question No. 26

T PR Sdic #§ IRT 3N T 2 #HeX @isT AT S1-1 ST g1 Sle &7 &% 96 gdr Hiex
g1 fawior #r awerT . 50 Wi @9 e &1 [T fr Fo AW AT F

A) 3eT 39T B) %.2400

C) %.4000 D) %.4800

A 2 m broad pathway is to be constructed around a rectangular plot on the inside. The area of
the plot is 96 m?. The rate of construction is Rs.50 per m2. Find the total cost of the
construction.

A) Data Inadequate B) Rs.2400
C) Rs.4000 D) Rs.4800
Answer Key : A Your Response : A (Correct)

Question No. 27

ofeT HEamsit T FeT 100 §1 gEel AR qEd WA F A 4 : 9 7 3R qEd ARk Nl d@ewr
ST U1 3 : 4 &l gEY HEA 9T

A) 36 B) 24

C) 30 D) 28

The sum of three numbers is 100. The ratio of the first number to the second numberis 4 : 9
and the ratio of the second to the third number is 3 : 4. Find the second number.

A) 36 B) 24
C) 30 D) 28
Answer Key : A Your Response : A (Correct)

Question No. 28

Uk THHIOT = H, oA T HTT 1:1:2 &, A
cos A cos B - sin A sin B &T A1 AT HIfaT|
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A) B)

C) D)

bl =
Tl -

In a right triangle, the sidesareintheratio1: 1: 2.

Find cos Acos B - sin A sin B.

A) B)
1 0
0) D)
1
1/2 Nz
Answer Key : B Your Response : B (Correct)

Question No. 29

W AT ,J0.01+4/0.0225

A) B)
SSC Adda247 Engineers Adda247
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0.4 4

C) D)
0.04 16
Simplify: /0.01+ 0.0225
A) B)
0.4 4
0 D)
0.04 16
Answer Key : A Your Response : A (Correct)

Question No. 30

v fARaa o w10 af & a1g AUROT AT $.600 g B, AR Fereew 5 ¥ A e T 8@
ST &, &89 a¥ & 37d H Fol SIS FAT EM?

A) ¥.1200 B) ¥.900

C) %.1500 D) %.600

S dda2 neers Adda247
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is trebled after 5 years, what will be the total interest at the end of tenth year?

A) Rs.1200 B) Rs.900
C) Rs.1500 D) Rs.600
Answer Key : A Your Response : A (Correct)

Question No. 31

AT Gothe & 9T IAFFA FA W IRIFT FoREs, aSRIHT Gohe 3R AT FoREs
ge1aT 81 Pfaf@a & O i a1 sud afAe 3R F 9P Fr T &9 A yFT War 87

A) 3iTerdreor 3rfAfhRar B) 3t@gIqur 3rfAfshar
C) Tt 3rfafehar D) cg JfAfehar

Barium chloride on reacting with ammonium sulphate forms barium sulphate and ammonium
chloride. Which of the following CORRECTLY represents the type of reaction involved?

A) Oxidation reaction B) Precipitation reaction
C) Combination reaction D) Combustion reaction
Answer Key : B Your Response : Not Answered

Question No. 32

e e a Afaf@a & & e = 3 war = 82
A) s g 3R |9 g eer B) @& I
C) @#Hac g D) s g

In which of the following lists is Economic planning placed?

A) Both State list and Union list B) Union list
C) Concurrent list D) State list
Answer Key : C Your Response : C (Correct)

Question No. 33

freafaf@a & & =i a1 T (quinine) T TF AT 82
A) gsdAdda247 B) ARl Engineers Adda247
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C) A=

Which of the following is a source for quinine?

A) Teak
C) Neem

Answer Key : B

IARFr ARIRE AZFHT Feod
A) g3HaY

C) 9iel dfec

Michael Phelps of US is famous for-
A) Horse riding
C) Pole vault

Answer Key : B

feesie frer e ST 872
A) AT Ted AT

C) FR HIgA

How are detergents called?
A) Soapless soaps
C) Hard soaps

Answer Key : A

B) Cinchona
D) Bamboo

Your Response : B (Correct)

Question No. 34

% fou vfag §

B) arhr
D) 3 %a

B) Swimming
D) High jump

Your Response : B (Correct)

Question No. 35

B) #3 WA
D) rsiferr Hrege

B) Soft soaps
D) Carbolic soaps

Your Response : Not Answered

Question No. 36

ﬁmﬁ@aﬁ#m@aﬁmmﬁg‘?

A) GaaTadda247
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C) &azsr D) fshahe

Which of the following sports originated in India?

A) Football B) Tennis
C) Kabaddi D) Cricket
Answer Key : C Your Response : C (Correct)

Question No. 37

T hidd o T Ighl & 91 olell Foli$ AR 3q 4 qhs & &g wfaeafa gars | eafer v =rer
344 m/s BT W AFT & Tg= I g AT FfSw|

A) 344 & B) 600 #r

C) 300 #r D) 688 #r

A person clapped his hands near a cliff and heard the echo after 4 seconds. What is the
distance of the cliff from the person when the speed of the sound is 344 m/s?

A) 344 m B) 600 m
C) 300 m D) 688 m
Answer Key : D Your Response : D (Correct)

Question No. 38

frdlr avg @1 T Hew A AT, I gFeeR 3& ifFa AT 5. 80 W 5% #r ar FARK
< o &l

A) . 72.20 B) % 73

C) & 72 D) % 70.10

Find the selling price of an article, if a shopkeeper allows two successive discounts of 5% each

on the marked price of Rs.80.
A) Rs.72.20 B) Rs.73
C) Rs.72 D) Rs.70.10
Answer Key : A Your Response : A (Correct)
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Question No. 39
ITede 336 # Fo Janit & fAv hw Geerr @+ RV gaue Ao g2
A) HETH THT B) @ wqc™

C) foog wAa™ D) Uea-EfEust weer

Which community gets special provision for certain services in Article 3367

A) Muslim community B) Sikh community
C) Hindu community D) Anglo-Indian community
Answer Key : D Your Response : D (Correct)

Question No. 40

FiT @1 @faer Rt F v snaeTw §?
C) &+ D) hferra#

Which mineral is essential for bones?

A) lIron B) Sulphate
C) Zinc D) Calcium
Answer Key : D Your Response : D (Correct)

Question No. 41

frfaf@d Joft 7 qod & A9 s

1, 1, 2, (), 24, 120, 720
A) 8 B) 6

C) 3 D) 2

Find the missing number in the following series.

1, 1.S 5(: (A(ildﬂzﬂo 720 Engineers Adda247
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A) 8 B) 6
C) 3 D) 2

Answer Key : B Your Response : B (Correct)

Question No. 42

s Hr s AUiRT @, gl & M fr gerfeel, efedl, gegfest, Redter snfe #r gar
T F AT FT daelier 1 39T AT JAar 82

A) t€afar 37a2wuT(Sound absorption) B) 31a%cg tafd(Infrasound)

C) SONAR D) MRI

Which technique is used to determine the depth of the sea, locate the underwater hills, valleys,
submarines, icebergs etc.?

A) Sound absorption B) Infrasound
C) SONAR D) MRI
Answer Key : C Your Response : C (Correct)

Question No. 43
Tt & I & Y ARME T W FlT @ A o9 Ol @2
A) FIsT SSIHTFASS B) 3iferdiotel
C) &gt D) sTsgrstet

Which gas is typically produced when metal reacts with acids?

A) Carbon dioxide B) Oxygen
C) Hydrogen D) Nitrogen
Answer Key : C Your Response : C (Correct)

Question No. 44

a o
ofg cotB=— & ar cos 6 51_n|3 T AT AT HIT=IT|
b cos O + sin O
SSC Adda247 Engineers Adda247
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A)

b/a

C)

a’/b*

cos B -sm O

a
If cot 6= E , then find

A)

b/a

o)

a’/b*

Answer Key : D

cos B +sin @

B)

D)

(a-b)(a+b)

B)

a/b

D)

(a-b)(a+b)

Your Response : D (Correct)

Question No. 45

TF O F O &ater AR I & 3HifFhd AT R §| g1 F HAT AT Afwl

A) 162 T &S
C) 216 9 3HE

B) 512 ° S5
D) 276 O« 3&5

A cube-has gumgrically equal surface area and volume. Find the volug}qg%tggr%ulgad a247
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A) 162 cubic units B) 512 cubic units
C) 216 cubic units D) 276 cubic units

Answer Key : C Your Response : C (Correct)

Question No. 46

59 W A, i FUFT F a1¢ IR Aspy RE 7w §| 370 sy (fAswsf) A gof s arfbr s @
A 3G B

Yo

1) @i e, wfesa €
2) F& vlfeaH, =idr ¢
3) welr =idy, &N §l

forses:

. & gR, et
Il. $ R, T &l
ll. T =idy, e
IV. & wifea &R E

A) hael sy | 3R Il 3uged B) ahder foishy Il 3UgFT §
C) shael fashy | 3R IV 39g+d &l D) &der fashy | 3R Il 3uged g

In this question, three statements are given followed by four conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) All gold are platinum.

2) Some platinum are silver.
3) All silver are diamonds.

Conclusions:

I. Some diamonds are platinum.
Il. Some diamonds are gold.

lll. Some silver are gold.

IV. Some platinum are diamonds.

SSC Adda247 Engineers Adda247
A) Only conclusions | and Il follow B) Only conclusion Il follows
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C) Only conclusions | and IV follow D) Only conclusions | and Il follow

Answer Key : C Your Response : C (Correct)

Question No. 47

P, Q 3R R, %.35000, ¥.45000 3k %.55000 fQer & UH HERERT 7 9T Fd &1 $.40500
& I o3 7 30 T fear a1 a hifaw)

A) 2.10500, ©.13500, ©.18500 B) %.10500, %.13500, %.19500

C) %.10500, %.13500, %.17500 D) %.10500, *.13500, %.16500

P, Q and R enter into a partnership investing Rs.35000, Rs.45000 and Rs.55000. Find their
respective share in the annual profit of Rs.40500.

A) Rs.10500, Rs.13500, Rs.18500 B) Rs.10500, Rs.13500, Rs.19500
C) Rs.10500, Rs.13500, Rs.17500 D) Rs.10500, Rs.13500, Rs.16500
Answer Key : D Your Response : D (Correct)

Question No. 48

AR o &, Bl ek & A § ST ST 91?
A) 3fheT B) STglaiR
C) 3T D) sT&}

In Indian history, who was also known as Alamgir?

A) Akbar B) Jahangir
C) Aurangzeb D) Babur
Answer Key : C Your Response : C (Correct)

Question No. 49

i (x - 1) 3R (x + 3), X* + ax + b & IUAGUS §, dr HFAW: a AR b F AT AT AT
A) -2, -3 B) 2, -3

C) -2, 3 D) 2, 3
SSC Adda247 Engineers Adda247
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If (x - 1) and (x + 3) are the factors of x2 + ax + b, then find the values of 'a' and 'b' respectively.

A) -2,-3 B) 2,-3
C) -2,3 D) 2,3
Answer Key : B Your Response : B (Correct)

Question No. 50

gfe 53 » 13 =33, 39 » 13 = 26 31w 74 » 26 = 50 &, ar 37 * 21 & AT AT L
A) 29 B) 24

C) 43 D) 37

If 53 * 13 =33, 39 * 13 = 26 and 74 * 26 = 50, then what will be 37 * 21?

A) 29 B) 24
C) 43 D) 37
Answer Key : A Your Response : A (Correct)

Question No. 51

FleT A Aeg oA T a0 Faer A TG a&F & quT FWm?

SR : |3 1§ ?
A) Higs B) ust
C) rex D) &R

Which word will best complete the relationship given below?

Asphalt : Road :: Brick : ?

A) Fabric B) Cloth
C) Prism D) Wall
Answer Key : D Your Response : D (Correct)

SSC Adda247 Engineers Adda247
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Question No. 52
3MYfAF e ARON F 9N 7 fefaf@d & @ Fla @1 FuT @@ 52
A) EH 18 FtatR T@H gl & Toee weg B) s@d 18 &ifdw dfFadl g & e amad

el ST g el ST &l
C) sa# 7 afas dfdadi gidr &, e ¥dg D) 38H 7 FtditR TR GfFaar gidr §,
gl ST gl S 3Tad &eT ST gl

Which of the following statements about the modern periodic table is CORRECT?

A) It has 18 vertical columns known as B) It has 18 horizontal rows known as periods

groups
C) It has 7 horizontal rows known as groups D) It has 7 vertical columns known as periods

Answer Key : A Your Response : A (Correct)

Question No. 53

Ife 31 fREew 2005 i AfAar o1, af 31 REaT 2009 Fr Hodlg F HleT AT feT am?

A) YFAR B) &R

C) aar D) erfaarR

If 31 December 2005 was a Saturday, then what day of the week will 31 December 2009 be?

A) Friday B) Thursday
C) Sunday D) Saturday
Answer Key : B Your Response : B (Correct)

Question No. 54

A) B)

SSC Adda247 Engineers Adda247
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C)

1/12

13/49
D)
3/13 48/13
: o 1
Simplify: 3+
1+
2+
4
A) B)
13/49 1/12
0) D)
3/13 48/13

Answer Key : D Your Response : D (Correct)

Question No. 55

0125 & 9AT T&TT F §T H =g S|

A) B)
Engineers Adda247
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125/999 119/993

C) D)

100/999 113/990

Express 0125 in rational form of number.

A) B)
125/999 119/993
0 D)
100/999 113/990
Answer Key : A Your Response : A (Correct)

Question No. 56

ar AR A qUiier F AT (HCF) A1 HLl
A) 1 B) 2

C) -1 D) 0

Find the HCF of two consecutive even integers. .
SSC Adda247 Engineers Adda247
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A) 1 B) 2
C) -1 D) 0

Answer Key : B Your Response : B (Correct)

Question No. 57

39 dichelcd A 1 H 2 & 19 W GlEH 1 & 4 & 01T W 997 ST § O gfawa g g
ffoe?

A) 75% B) 50%

C) 100% D) 25%

What is the loss percent incurred when chocolates got at 2 for a rupee are sold at 4 for a

rupee?
A) 75% B) 50%
C) 100% D) 25%
Answer Key : B Your Response : B (Correct)

Question No. 58

2019 7 fF=faf@d & ¥ FY 937 4 ¥ geafaa far a=m?

A) FurfeeT AGSi B) &Y drer
C) Iitaa iR D) SifeT dFsr

Who among the following was awarded with the Padma Shri in 2019?

A) Budhaditya Mukherjee B) Bachendri Pal
C) Gautam Gambhir D) John Chambers
Answer Key : C Your Response : C (Correct)

Question No. 59

STl W Pl TT T SHARH ST 872
A) Tedhlgd B) Il
C) 88irdda247 D) wehar Engineers Adda247
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Which of these is a fossil fuel?

A) Alcohol B) Coal
C) Biogas D) Wood
Answer Key : B Your Response : B (Correct)

Question No. 60

Rt 3 ¥ P W T g 6 &2
A) Ca(OH), B) KOH
C) NH4OH D) NaOH

Which of the following is a weak base?

A) Ca(OH), B) KOH
C) NH4O0OH D) NaOH
Answer Key : C Your Response : C (Correct)

Question No. 61
frfafed # & fFes ey TR T9X A A A §?
A) ST B) dW%c §8
C) dagar D) ¥

Which of the following is rich in dietary fibre?

A) Ice-cream B) White bread
C) Noodles D) Apples
Answer Key : D Your Response : C (Wrong)

Question No. 62

Soft Fr quT &

SSC Adda247 Engineers Adda247
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2, 3, 6, 15, 42, (.)
A) 94 B) 123

C) 48 D) 62

Complete the series.

2, 3,6, 15,42, (...)

A) 94 B) 123
C) 48 D) 62
Answer Key : B Your Response : B (Correct)

Question No. 63

foeemar fha s dr g delr 87
A) FUF B) FIger
C) AT H D) 3ifs@r

Thillana is one of the presentation styles of which dance form?

A) Kathak B) Kuchipudi
C) Bharatanatyam D) Odissi
Answer Key : C Your Response : Not Answered

Question No. 64

T Y 106 x 106 + 94 x 94
A) 20032 B) 20072

C) 23032 D) 21032

Simplify: 106 x 106 + 94 x 94

A) 20032 B) 20072

C) 3803Rddaz47 D) 21032 Engineers Adda247
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Answer Key : B Your Response : B (Correct)

Question No. 65

Ife forelr fafRaa fesmar &, RAT = 40, CHAT = 33 8, dr RETURN = ?
A) 88 B) 99

C) 84 D) 97

If in a certain code, RAT = 40, CHAT = 33, then RETURN = ?

A) 88 B) 99
C) 84 D) 97
Answer Key : D Your Response : D (Correct)

Question No. 66

U fARET qff # 97 F & AT 71T @rT 4T F fAwla R # fav v gy 3R anr i
feRm & AT 1T THF F AT 4 : 1§ GRT B R F A} orr F QU foww 7 @ Hr @
T 9T AT FfSC

A) 4 : 1 B) 3:5

C) 1:4 D) 5:3

The ratio of the time taken to row a certain distance upstream to the time taken to go
downstream is 4 : 1. What is the ratio of the speed along stream to that upstream?

A) 4:1 B) 3:5
C) 1:4 D) 5:3
Answer Key : A Your Response : A (Correct)

Question No. 67

fafaf@d & & =l &1 wF Bellgr dier 872

A) 3Te] B) amefr

C) THATR D) #eX

Whiek efARé!fsfiding is a leguminous plant? Engineers Adda247
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A) Potato B) Cabbage
C) Tomato D) Pea

Answer Key : D Your Response : C (Wrong)

Question No. 68

3H PG 1 TIS FY, A HEAei@d Ao F & & wey #@
Tafea® o1 & foOwlT T 2

A) B)

o9 0 (
-

0) D)

o @

-

Choose the figure that best represents the relationship among the
classes given below.
Wheat, Grains. Onion, Maize

A) B)

0) D)

Engineers Adda247
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Answer Key : A Your Response : A (Correct)

Question No. 69
T3rg, Arfaf@a 7 ¥ Fa U= dr TeuE §?

INBRGIECRE B) gRarom
C) uaTa 3R gRImom gt D) dae

Chandigarh is the capital of which of the following states?

A) Himachal Pradesh B) Haryana
C) Both Punjab and Haryana D) Punjab
Answer Key : C Your Response : C (Correct)

Question No. 70

I+ FATAT '+ B, " W AdAT X' §, X W Aded " AR+ o Aqag '+ g, A (5-8x 6
+11)+9=7

A) 15 B) 12
C) 20 D) 5
If '+' means '+, '-' means ‘X', X' means -' and '+' means '+, then (6-8x6 +11)+9="7?
A) 15 B) 12
C) 20 D) 5
Answer Key : D Your Response : D (Correct)

Question No. 71

ar WEAHt 1 AT 22 ¥ U HEAT F Ui I Y WEAT F 6 A F SN gl 5T At F &
TS WEAT T

A) 10 B) 16

C) 15 D) 12

Thessélcrp A?é 3%/& Lrwmbers is 22. Five times of one number is equal to E‘ r’%iérllﬁse éhres tEI%’aE‘J‘? the
larger of the two numbers.
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Answer Key : D Your Response : D (Correct)

Question No. 72

farfaf@a 7 & il & a3 1 "Si" U SaRT SATAT 1T 82
A) |fsaH B) dowl
C) dmr D) fafesie

Which of the following elements is represented by the symbol "Si"?

A) Sodium B) Sulphur
C) Silver D) Silicon
Answer Key : D Your Response : D (Correct)

Question No. 73

oo e & % 8 I H 4 g ST @, A e IROMA 3 el A wed SIS w@EAr g g
q% TEAT T 7

A) 8 B) 10

C) 15 D) 12

When 8 times of a number is increased by 4, the result is the smallest 3 digit number. What is

the number?
A) 8 B) 10
C) 15 D) 12
Answer Key : D Your Response : D (Correct)

Question No. 74

SHTE IMUR W Tehgfeg Fah A0 T S W, %.18500 #Hr IR W 40% aIf¥sF &I « 18 A
&I Whafg SAT AT RS

A) §3648da247 B) .13468 Engineers Adda247
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C) %.16000 D) %.16280

If the interest is compounded half-yearly, find the Compound Interest on the sum of Rs.18500 at
the rate of 40% per annum for 18 months.

A) Rs.15469 B) Rs.13468
C) Rs.16000 D) Rs.16280
Answer Key : B Your Response : B (Correct)

Question No. 75

geTar & frue 3fiftewer o w1ET drar 272
A) FTSHIERT B) IR
C) TEhIT D) TAERT

Which of these does NOT have an optical lens?

A) Microscope B) Periscope
C) Telescope D) Stethoscope
Answer Key : D Your Response : D (Correct)

Question No. 76

ad #, deal Fr & $H H gareyd foRar e gl
A) ATfAS & AT 3Tael B) =t & X 3mael
C)aﬁﬁmﬁaﬁgvm%ﬁ D)m%ﬁaaﬁrgtrm%ﬁ

In a period, elements are arranged in the order of-

A) Equal charges in the nucleus B) Constant charges in the nucleus
C) Decreasing charges in the nucleus D) Increasing charges in the nucleus
Answer Key : D Your Response : D (Correct)

Question No. 77

Wsﬁa%ﬁﬁ W e 7@ & 7 W R @ Engineers Adda247
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A) TH B) 3

C) dredr D) @TeRHAd!

On which of the following river banks is the city of Agra located?

A) Yamuna B) Ganga
C) Tapti D) Sabarmati
Answer Key : A Your Response : A (Correct)

Question No. 78

SoTd W PieT AT WA T A1 (SFel) WA oTel &7
A) AR B) Ty
C) =& D) fosa

~

Which of these sports is NOT a board (table) game?

A) Chess B) Squash
C) Carrom D) Billiards
Answer Key : B Your Response : B (Correct)

Question No. 79

Sofr Fr quT &

CJ, PU, ND, LG, (.)
A) KS B) W

C) RE D) JE
Complete the series.

CJ, PU, ND, LG, (...)

A) BSC Adda247 B) W Engineers Adda247
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C) RE D) JE

Answer Key : D Your Response : Not Answered

Question No. 80
R C & Wi A gt & Fhe7 T &2
A) 3EG B) ¥«
C) ures® D) g1t & @sh

Natural source of vitamin C is-

A) Guava B) Apple
C) Spinach D) All of the options
Answer Key : D Your Response : Not Answered

Question No. 81

T IEG U ATRed Hed W 99T AT gl 39X 38 37 HIAd & 60% T
=T ST, ar 357 v @i 2 gferera arey =/ 22

A) B)
1
121% 8_%
2 3
C) D)
162% 15%
3

An article is sold at a certain price. Had it been sold at 60% of this

price, there would have been a loss of 35%. What is the percentage

pra3fCddaz47 Engineers Adda247
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A) B)

1,, 1.,
12—% Zo
5 8 3
0) D)
162% 15%
3
Answer Key : B Your Response : B (Correct)

Question No. 82

TF 110 HieX ol ¢ Ry @ A 12 AFs F gR FT o &1 T : FAEe F o a9
fifaT|

A) 33 fral/ger B) 27 fhal/ger

C) 30 frefveer D) 49 Rrsieer

A 110 m long train crosses a pole in 12 seconds. What is the speed of the train in km/h?

A) 33 km/h B) 27 km/h
C) 30 km/h D) 49 km/h
Answer Key : A Your Response : A (Correct)

Question No. 83

STel YROT &7 # Fed 0w g g
A) Ydrelr fAEr (Sandy soil) B) TIeer AT (Clayey soil)

C) oHerR fAgY (Silty soil) D) sef$ fAET (Loamy soil)

Water holding capacity is the highest in-
A) Sandy soil B) Clayey soil
C) S8ty Aodlda247 D) Loamy soil Engineers Adda247
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Answer Key : B Your Response : B (Correct)

Question No. 84

wF fAfREa Fesmsr #, 'MEDICAL' I 'MEIDCAL' for@r Sirar &1 34T st & 'POLICE' & &
fer@r smeen?

A) PCELIO B) POILCE

C) POCEIL D) ILCEPO

In a certain code, 'MEDICAL' is written as 'MEIDCAL'. How would 'POLICE' be written in that
code?

A) PCELIO B) POILCE
C) POCEIL D) ILCEPO
Answer Key : B Your Response : B (Correct)

Question No. 85

39 3 AT H Fo T QAber e gram, fFwhr Bsm, 154 et ey &awer arer god H
B=r $r el & 3R I sudhr B F W &2

A) 123 #Hiee? B) 312 Hex?

C) 132 Hex? D) 231 #e?

What is the total surface area of a solid cylinder whose radius is half the radius of a circle of

area 154 m? and height is the same as its radius?

A) 123 m? B) 312m?
C) 132 m? D) 231 m?
Answer Key : D Your Response : B (Wrong)

Question No. 86

U foT AT FN, U AT FP&T A AR 33 @ A 3R 9 R 73 IRm A g7 915 IR H
aTeT 319 e fvr & 33 wWr g7
A) qd B) af&ror

SSC Adda247 Engineers Adda247
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One day in the evening, an eagle was flying towards sun and turned left. Again it took left turn.
Which direction was the eagle flying now?

A) East B) South
C) South east D) South west
Answer Key : A Your Response : A (Correct)

Question No. 87

fFrfaf@d 4ot & e eR-wag A9 fifew

MA, WO, OE, SI, YM
A) OE B) YM

C) WO D) SI

Find the group of wrong alphabets in the following series.

MA, WO, OE, S|, YM

A) OE B) YM
C) WO D) SI
Answer Key : C Your Response : Not Answered

Question No. 88

gegioe & gAEYfa®, seRIA & g &l
A) T #ggiel 3R ar dield B) Ueh gelerclel 3R ar =ggiel
C) =T =ggia 3R wh wield D) T Hield 3R wh wggial

The isotope deuterium of hydrogen has-

A) One neutron and two protons B) One electron and two neutrons
C) No neutrons and one proton D) One proton and one neutron
AISI§‘(A:7(-!:AI\‘ e%%fg Your Response : Not EI{] IQI'ee%rS Adda247
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Question No. 89

3aRer 7 I g Uge AIRAT T A?
A) T AT B) eUslT ATdel
C) faer Hegam D) geitar fafogew

Who was the first Indian to go into the space?

A) Rakesh Sharma B) Kalpana Chawla
C) Ravish Malhotra D) Sunita Williams
Answer Key : A Your Response : A (Correct)

Question No. 90

& T gt & s = §2
.
A 11 B) 10
C) D)
14 12
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How many squares are there in the given figure?

A B
) 11 ) 10
0 D)
14 12
Answer Key : C Your Response : C (Correct)

Question No. 91

AYUROT s4TeT 9T & 98 U e« 3 auf 3 2815 3K 4 asf & 2854 g o &, U 5 d
fifow?

A) % 698 B) % 690

C) % 650 D) % 700

A sum of money at Simple Interest amounts to Rs.815 in 3 years and Rs.854 in 4 years. What
is the sum?

A) Rs.698 B) Rs.690
C) Rs.650 D) Rs.700
Answer Key : A Your Response : Not Answered

Question No. 92

frfaf@a # & R e 3o0 fagga vy &iar & 3k oRoy & ar & =7 =& &

fore g fFar Srar g7
SSC Adda247 Engineers Adda247
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C) faegerreh D) dTerh

Which of the following has comparatively high electrical resistance and is used in the circuit to
reduce current?

A) Resistor B) Semi conductor
C) Insulator D) Conductor
Answer Key : A Your Response : A (Correct)

Question No. 93
FRI, gl 3R FASoRt F TRRT 7 ¢35 =T qa10 S §72

A) TYUT & Fel AR FHh W I UHS Yeld B) TRRT & &3 3G f3Se AT Fedl H Fole
T & U & U

C) °¥UT &l &H I & v D) argel &I a1fd e & ferw

Why are the tyres of the cars, trucks and bulldozers treaded?

A) To increase friction and to give a better B) The treads of the tyres are meant to add

grip to them on the road beauty to its design
C) To decrease the friction D) To increase the speed of the vehicle
Answer Key : A Your Response : A (Correct)

Question No. 94

A Y cos 5° + cos 24° + cos 175° + cos 204° + cos 300°

A) -1/2 B) 0
C) 1 D) 1/2
Simplify:

cos 5° + cos 24° + cos 175° + cos 204° + cos 300°

A) -1/2 B) 0
C) 1 D) 1/2
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Question No. 95

T & el FT TERAE AT T §?
A) Oifsad gEsiFass B) 3AI@IH gBsiFdss
C) HIRH gEsiFass D) HferrgA gregiaarss

What is the chemical name of limewater?

A) Sodium hydroxide B) Ammonium hydroxide
C) Magnesium hydroxide D) Calcium hydroxide
Answer Key : D Your Response : A (Wrong)

Question No. 96

da 3opEit fr afasr Foit & FTHARIAIC gl ¥
A) TATSAT e B) &
C) o 3R g« gt D) daa

Kinetic energy of gas molecules is directly proportional to-

A) Atmospheric pressure B) Pressure
C) Both temperature and pressure D) Temperature
Answer Key : D Your Response : C (Wrong)

Question No. 97

SRS (Bacilli) & Shar &, S g gl
A) FHAT & SR B) ©gAT
C) Hsfad 3R D) MR

Bacilli are bacteria which are-
A) Comma-shaped B) Rod-shaped

C) Spiral D) Spherical
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Question No. 98
3aReT ' ST IR™T YT 3YAE FiT AT A1?
A) Tl 1 B) =TS 1A
C) TFHCARY 1 D) qfgol

Which was the first satellite to be sent into space?

A) Sputnik 1 B) Vanguard 1A
C) Explorer 1 D) Rohini
Answer Key : A Your Response : Not Answered

Question No. 99

HisT A1 Aheq AR QU a1 Faer - T e @ qoF Few?

8(246)3
3(213)7
3(27?)5
A) 156 B) 615
C) 165 D) 516

Which of the following options will best complete the relationship given below?

8(246)3
3(213)7
3(27?)5
A) 156 B) 615
C) 165 D) 516
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Question No. 100

_ U e gaia ddear S5 g

A) TsH B) cIswWiss
C) dferr D) HellXAT

is a sexually transmitted killer disease.

A) AIDS B) Typhoid
C) Jaundice D) Malaria
Answer Key : A Your Response : Not Answered
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